.     Elimination Method B    .
Often the numbers of each variable do not match for elimination

eg

5x + 2y = 24


Different number of x and y

  3x + y = 15


Two choices: match up the x’s OR match up the y’s

5x + 2y = 24


Match up the y’s is easiest in this example





  3x + y = 15


Multiply ALL the 2nd equation by 2

5x + 2y = 24


Subtract to eliminate y

6x + 2y = 30


Solve






Match up the x’s is also possible







Multiply ALL the 1st  equation by 3

5x + 2y = 24







Multiply ALL the 2nd equation by 5
 
 3x + y = 15







Subtract to eliminate x




15x + 6y = 72






Solve








15x + 5y = 75
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